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# B AIEE [=d 38 L5
B G i TRE LT ELE (A) w =
ARE AE®E 3,600,000 3,600,000 0| A&B£510,000M x 360 A
=% E3=1 3,888,000 2,592,000 1,296,000/ B 300/ x 1,080 A X 124 H
A URA 150,000 220,000 A 70000(2E—fEAK. ELANE . ERRREREAENSE
MHEFEEFEEES 3,888,000 3,888,000 0| B300M x 1,080 A X 124 H
BHUE |neEsse 2,037,490 2,429,979 A 392489 (R EREHE
& &t 13,563,490 12,729,979 833,511
i H (1 M)
# B AIEE Eh B i,
5 G # TR L FEE (A) W=
2% 1,350,000 1,350,000 O|PTARERMEES
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HERE 450,000 400,000 50,0001t - AMEEER . S ETARKER
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N R 1,220,000 1,150,000 70,000
"HBE 600,000 600,000 O| & EPERLE T WHE RS Rt
ERAMRUEER 500,000 500,000 0 ﬂﬁﬁ;’gg FLEMRR (/RMELE)
HREAE 100,000 0 100,000
ko 4,943,000 4,320,000 623,000
aiEe gi8& 330,000 330,000 0 %g?gg}éﬁég% M) BPERE. £
HHEZEEHEEAES 3,888,000 3,888,000 0
B’ie | BdE 3,600,000 3,600,000 O[EPE B R B ERE B HEE
FRE | FHRE 802,490 591,979 210,511
& &t 13,563,490 12,729,979 833,511
PTAMRRAEEERIERE (B A)
X 4 ::fzi AR | % EALE ;i;’; % =
HBiIE | 2441031 0 0 2,441,031
FF 30 30
&t 2,441,031 30 0 2,441,061
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HERE 4,700,000f 3,500,000] 1,200,000(%8 B H A2
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=k 3,500,000[ 3,500,000 O|EihE. EXERIEE. RESMES
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R A AEEFERE | IEETEL | ISR & =

PTAMR & 4,068,000 3,960,000 108,000(11,300/ A x 360 A
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X L ZER 3,618,000 3,488,400 129,600(3 =] %

BEAR Y 266,400 266,400 0|2 E1200M ., 7JL/\/1000M B

SEREF 33,750 33,750 0|41, BEEE DRI
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